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(A) What is cost ? Explain the classification of cost on the basis of elements. For
control of which element of cost, EOQ model is used ? Explain the utility of

this model.

(B) Distinguish between Productivity and Profitability. How productivity can be
improved ? Describe the causes for low productivity.

(C) “The relevant cost is a future cost.” Explain this statement with other
characteristics of this cost and illustrate your answer.

(D) “Sunk cost is associated with future cost.” Critically evaluate this statement and

illustrate your answer.

2. Attempt any two :

(20)

(A) What is under/over recovery of overheads ? Explain supplementary recovery

rate with illustration.

(B) What is learning curve ? How learning curve ratio will be determined ? Explain

usefulness of learning curve.

(C) The following information is extracted from the cost record of a company :

Dr. Factory Overheads account Cr.
Particulars Amount | Particulars Amount
Rs. Rs.
To Stores Ledger Control | 3,00,000 | By Work-in-Progress | 5,00,000
Alc Alc

To Labour Control Alc 2,00,000 | By Costing Profitand | 1,00,000
To Bank Al 1,00,000 | LOSSA/C

6,00,000 6,00,000
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Additional information :
Units produced : 9,800
Units sold 9,000
Units of WIP 400 (50% Complete)

On investigation it was found that 50% of under recovery is the result of
price rise in the concerned elements. While the remaining 50% is due to
inefficiency.

The above mentioned account is prepared by newly appointed Cost
Accountant. Do you feel that corrections are required in this account ?

(i) If Yes, give all necessary calculations and accounting treatments.

(if) If No, explain your answer on the basis of logical reasons.

A Company has planned to install new machine in the factory. You are
appointed as a temporary consultant.

The company has prepared following conventional cost statement for
production of 16 machines.

Rs.
Direct Material 1,60,000
Direct Labour 4,00,000
(500 Hours per unit and Rs. 50 per hour)
Fixed cost 2,40,000
Total Cost 8,00,000
+ Profit (20% of cost) 1,60,000
Sales 9,60,000
+ Units 16
Per Unit Selling Price 60,000

The Competitor of the company is prepared to supply a machine at Rs. 47,500.
While the company’s selling price is Rs. 60,000 per machine. The Competitor
works at 90% learning curve, on the other hand, company can work at 80%
learning curve. In order to install new machine company has to earn profit of
Rs. 1,60,000. Is the company able to earn expected profit at lower selling price
than that of the Competitor’s selling price ? As an expert give your opinion to
the company.



3. Gujarat Company uses Standard Costing System. You are provided the following
information for per unit standard cost, annual budget and actual cost. (20)

Per unit standard cost :
Material cost (20 kgs @ Rs. 2 per kg)
Labour cost (5 Hours @ Rs. 18 per hour)
Variable overheads (5 Hours @ Rs. 1.50 per hour)
Fixed overheads (5 Hours @ Rs. 3 per hour)

Annual budget :

Rs.
Variable overheads 1,50,000
Fixed overheads 3,00,000
Expected working hours 1,00,000 Direct labour hours.

Statement of actual cost and income :

During the month of March 2005, Company has produced and sold 1450 units. Its
income statement is as follows.

Rs.

Sales : 1450 Units x Selling price Rs. 250 3,62,500
Less : Total cost Rs.
Direct Material (30,000 kgs) 66,000
Direct Labour (8,000 hours) 1,51,200
Variable overheads 11,000

Fixed overheads 26,000 | 2,54,200

Actual Profit | 1,08,300

Do you think that the actual profit of the company is less than standard profit ? In
support of your answer calculate all costs variances excluding sales variance. And
suggest that on which costs control to be exercised by the company.

OR

3. (A) What are the various circumstances under which material price and material
usage variances are likely to arise ? (10)

(B) What is standard costing ? Discuss its benefits and limitations. (10)
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31-3-2005 is as under.

Trial Balance as at 31-3-2005

Montek Company Limited has commenced production activity from 1-4-2004. In the
first year company has worked at 60% of total production capacity. Company
maintains its account under integrated system. The Trial Balance of the company as at

Particulars Debit Credit
Balance (Rs.) | Balance (Rs.)
Share Capital - 20,00,000
Reserves and Surplus - 2,50,000
Creditors for goods - 2,50,000
Fixed assets 7,00,000 -
Current Assets : Stores Ledger Control A/c 3,00,000 -
Work-in-progress control A/c :
Material 1,50,000
Labour 1,80,000
Factory overheads 2,70,000 6,00,000 -
Finished Stock Control A/c 5,00,000 -
(2000 units)
Cash and Bank 1,00,000
Debtors 3,00,000
25,00,000 25,00,000

Historical information for the year 2004-05 :

(1) The company maintains its closing stock of finished goods, 16%% of total

production of each year and uses FIFO method.

(2) Total purchase is Rs. 15,00,000 and the value of closing stock of raw materials

will be maintained at the same amount.

(3) There will not be any effect of increase/decrease in production on closing

balance of work-in-progress.

(4) In the closing stock of work-in-progress 10% of raw materials purchased, 20%

of wages paid and 30% of factory overheads are included.
(5) In factory overheads Rs. 6,00,000 are fixed.

(6) Both administration and sales expenses are fixed.

MC-03
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(7) The production of the year is 12,000 units.

(8) The total profit of the year is Rs. 8,25,000, which is 30% of total cost.
(9) No under/over recovery of overheads is reported.

(10) The closing balances of debtors and creditors would remain unchanged.

Estimated information for the year 2005-06 :
(1) Production would increase by 50%
(2) Selling price is determined at Rs. 375 per unit.

Prepare :
(1) Necessary accounts
(2) Estimated Trial Balance for the year 2005-06.
OR

4.  Distinguish between Cost control and Cost reduction. Discuss in detail types of value
and benefits of value analysis. (20)

5. A company has production capacity of 2,00,000 units. The company has determined
80% capacity as normal capacity. In this regard income statement is as follows. (20)

Income Statement

Rs. Rs.
Production and Sales 1,60,000 units x Rs. 42 67,20,000
Less : Variable cost :
Direct Material 4,80,000
Direct Labour 3,20,000
Factory Variable Overheads 1,20,000
Administration Variable Overheads 1,80,000
Sales Variable Overheads 2,40,000 | 13,40,000
Contribution 53,80,000
Less : Fixed costs :
Factory 24,00,000
Administration 6,00,000
Sales 3,00,000 | 33,00,000
Standard Profit 20,80,000
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Actual results :

Opening stock : 20,000 units
Production :1,50,000 units
Closing stock : 10,000 units

The Company has adopted penetration policy to enter in the market. Due to prevailing
circumstances company was compelled to reduce its selling price by Rs. 2 per unit.
Except this no other variances between standards and actual are reported.

Prepare statement under marginal cost and absorption cost method and determine
profit. In addition to this prepare reconciliation statement of both the profits.

OR
5. Attempt any two : (20)

(A) What do you know about JIT approach ? “The elimination of its hurdles is
essential for successful implementation of JIT”. Explain the significance of this
statement.

(B) For which element of cost, the Activity Based Costing is used ? Distinguish
between Traditional method and Activity Based Costing method.

(C) Explain the concept of Activity Based Costing and discuss its benefits.

(D) Write note on techniques of value analysis.

MC-03 12
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